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Abstract

The Relation between Teacher’s Conflict and

Contribution of Organization

Heo, Young Jo

Major in Educational Administration
Graduate School of Education, Cheju National University

Jeju, Korea

Supervised by Professor Yang, Jin Geon

The purpose of this study is to make clear the Relation between Teacher’'s
Conflict and Contribution. of Organization . The subjects of study are as follows.
1. Does it have the differences by variable factors(e.g sex, age, career, school,
position and location so on) about Teacher’s conflict of school organization?

2. Does Teacher’s contribution of organization have the differences by variable
factors(e.g sex, age, career, school, position and location so on)?

3. What are the connection between Teacher's Conflicts(e.g. bureaucratic
management, forfeiture of authority, discord, low treatment, excessive burden,
student guidance) and Contribution of Organization(sincerity, spontaneousness,

acceptance of value)?

To solve the above problems, this study keeps pace with research of
documents and examinations. The subjects of sampling survey are 384 teachers
of Secondary School of Jeju Province and materials of research is to analyze
into using of SPSS/PC+ program

It 1s analyzed Teacher’'s conflict into six factors such as bureaucratic
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management, forfeiture of authority, discord, low treatment, excessive burden,
student guidance and Contribution of Organization into 3 factors such as

sincerity, spontaneousness, acceptance of value in the items of analysis.

The results of this study are as follows.

First, while teachers perform their duty, they have the troubles above the
average. These troubles have no differences between man teacher and lady
teacher or teacher and assigned teacher or teacher with a varied career and

teacher with a less career or middle school teacher and high school teacher.

Second, the level of sub—causes of current middle or high school teacher’s
general contribution of Organization has a little difference about the variable
factor of teacher’s career, and the other variable factors such as location of
school, sex, position have no step differences.

The reason of no step differences in all variable factors is explained by
teachers’ indifference and loss of motivation in due to reform of educational

system and all measures of educational world.

Third, The relation between teachers’ conflicts in Organization of School and
the Contribution of Organization is statical interrelation. So to speak, common
sense and theoretical assertion would be a proper judgement when the degree
of conflict is solved, the contribution of organization which represents the

degree of accomplishment of organization goal could be higher.
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WE | | WA | EHLE oR
el agn | agg |0 o | (MR | R
g 9 103 120 24 256
o " (35) | (402) | 469) | (94 | (1000) | 4*=9.762
o1 2t 0 64 59 5 128 df=3
0.0) (50.0) (46.1) (3.9 (100.0) p=0.021
_ 0 9 14 3 26
249 | 0o | 46 | @38 | a1s) | 1000
- 3 74 76 11 164
L}o] 047399 1 g | ws | wed | 61 | ao0o) | 423543
404 ~ 494 5 62 65 12 144 df=9
(35) (43.1) | (45.1) (8.3) (100.0) p=0.939
1 22 24 3 50
A 0o | @i | wso | 60 | aooo
10 )5 0 22 27 7 56
0.0) | (39.3) | 482) | (125) | (100.0)
waae | 104 o4 8 88 9% 17 209 22=9.010
38) | 42.) | 459 | (81 | (100.0) | qf=6
oo ~ A 1 57 56 5 119 =0.173
08) | 479 | (47.1) | (42) | (100.0)
I 8 90 79 3 180
— 44) | (50.0) | (439) | (D | (100.0) | 4*=25.762
R 1 77 100 26 204 df=3
05 | 3770 | (4900 | 127D | (100.0) | p=0.000
24 8 160 160 28 356
49 (22) | (49 | (449 | (79 | (1000) | 4°-6.126
P 1 7 19 1 28 df=3
(3.6) (25.0) (67.9) (3.6) (100.0) p=0.106
A 8 74 68 4 154
st A4 (5.2) | (481) | (442) | (26) | (100.0) | ?<18.839
o 1 93 111 25 230 df=3
T 04) | (404) | (483) | (109 | (100.0) | p=0.000
—. 9 159 174 29 371
24) | 429 | 469) | (7.8) | (100.0)
- distel =4 0 7 4 0 11 £2=2.671
o (A et 0.0) | 636) | (364) | 00 | (10000 | df-6
R 1 1 0 2 p=0.849
0.0) | (50.0) | (50.0) | (0.0) | (100.0)
A 9 167 179 29 384
(23) | (435 | 466) | (76) | (100.0)
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<E 1-10> HFE Fdst= AAHT AdH} A7 glo] 4 d=n
o o A = )
HE o AR | qag | A )
# el a8 | 2% o1 (M 328) e
- 0 87 147 21 255
= 9_
o 0.0) | (34.1) | (576) | (82) | (100.0) | 4?=4.463
o2 1 45 77 5 128 df=3
(0.8) | (35.2) (60.2) (3.9 (100.0) | p=0.216
0 8 17 1 26
Al o]ls
24T 00 | @08) | @50 | 68 | 1000
1 50 103 10 164
Al 394
ol 097399 1 06 | @05 | 628 | 6 | 1000) | <9454
14 -
q04 ~ a9m | ° o7 I iy S| di=o
00 | (399) | (345 | (B6) | (100.0) | =397
0 17 26 7 50
A o] Ak
O 00 | 640 | 5200 | 1400 | 1000
L0d g 0 14 37 5 56
0.0 | (250 | (661 | (89) | (100.0)
2_
aead | 104 ola 1 76 121 10 208 2°=5.957
(05) | (365 | (582) | (48) | (100.0) | df=6
oo ~ A0 0 42 66 11 119 -0.428
(0.0) | (35.3) | (565) | (9.2) | (100.0)
_ 1 80 94 5 180
3t
) 0.6) | (444) | (B22) | (28) | (100.0) | #?=21.267
g
e 0 52 130 21 203 df=3
TR el A
0.00 | (256) (64.0) (10.3) | (100.0) | p=0.000
1 126 204 24 355
AL
49 (03) | (355) | (57.5) | (68) | (100.0) | #?=2.439
PR 0 6 20 2 28 df=3
0.0) | (21.4) (71.4) (7.1) (100.0) | p=0.486
A 1 65 83 5 154
- 0.6) | (422) | (5839) | (32) | (100.0) | #?=11.655
332 7 A
o m 0 67 141 21 229 df=3
T 0.0) | (293) | 616) | 92) | (100.0) | p=0.009
PE—— 1 127 216 26 370
(0.3) | (343) | (584) | (7.0) | (100.0)
shey skl £<d 0 4 7 0 11 ¥=1.178
(A 0.0) | (36.4) | (636) | (0.0) | (100.0) | qf=6
] 0 1 1 0 2 p=0.978
AL &) 7 =
P =9 00 | 60 | 60 | 0o | 1000
i 1 132 224 26 383
(0.3) | (345) | (585) | (6.8) | (100.0)
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<GE 111> 37F 2 JAIA =S wAe] o2 E =24

L EEES I R A
Wl 2| agd |70 oy | (TR P A
- 8 79 134 35 256
- (31 | (309) | (52.3) | (137) | (100.0) | 5?=2.847
o] 5 49 56 18 128 df=3
(3.9) | (38.3) (43.8) (14.1) | (100.0) | p=0.416
] 2 12 9 3 26
28T g | we2) | cae | a15) | 1000
- 4 56 79 25 164
}o] 047399 0a | G | ws | 152 | 1000 £4=8.093
404 ~ 494 5 43 80 16 144 df=9
(35) | (299 | (B56) | ALD | 100.0) | p=0525
2 17 22 9 50
O ) o | 640 | @i | aso | 1000
L0d g 2 22 25 7 56
(36) | (39.3) | (446) | (12.5) | (100.0)
waae | 104 o4 6 61 111 31 209 22=4.373
(29 | (292) | (B31) | (14.8) | (100.0) | df=6
od ~ 404 B 3 45 54 15 119 =0.626
(4.2) | (37.8) | (454) | (12.6) | (100.0)
zem 6 58 101 15 180
— (33) | (322) | (56.1) | (83) | (100.0) | 4?=10.482
— 7 70 89 38 204 df=3
(3.4) | (34.3) (43.6) (186) | (100.0) | p=0.015
an 12 119 174 51 356
9] (34) | (334) | (489) | (143) | (100.0) | #?=1.345
A A} 1 9 16 2 28 df=3
(3.6) | (32.1) (57.1) (7.1) (100.0) | p=0.719
A 6 53 82 13 154
st A4 (39) | (344) | (832) | (84) | (100.0) | 4*=6.379
o m 7 75 108 40 230 df=3
T (3.0) | (326) | (47.0)0 | (17.4) | (100.0) | p=0.095
getm zq | 12 123 185 51 371
(32) | (332) | (499 | (13.7) | (100.0)
- et =4 1 4 5 1 11 2*=4.464
o (A et (9.1) | (364) | 455) | 9.1 | (100.0) | df=6
JRpp——— 1 0 1 2 p=0.614
0.0) | (50.0) | (0.0) | (50.0) | (100.0)
i 13 128 190 53 384
(34) | (333) | (495 | (13.8) | (100.0)
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<GE 112> BAuARIE I GFEACA FHaAke] dxpEe] it

o o A =2 ]
WEL AR g | aag | ,
el oo o (&) K A
- 47 104 105 256
1= 9_
o (18.4) (40.6) (41.0) (100.0) 2$=2.682
o121 27 41 60 128 df=2
(21.1) (32.0) (46.9) (100.0) p=0.262
5 11 10 26
Al o] 3
24T 1 oo | @ | @85 | aoo
29 56 79 164
Al T 39«
ol 3041 7394 | 179) (34.1) (48.2) (100.0) %°=5.655
2 2 144 -
104 ~ a9m |0 0 0 di=6
(20.8) (43.1) (36.1) (100.0) p=0.463
10 16 24 50
Al o]l Ak
504l el (20.0) (32.0) (48.0) (100.0)
Lod g 10 24 22 56
(17.9) (429) (39.3) (100.0)
2_
aeAd | 104 ola 36 75 98 209 2¥=3.897
(17.2) (359) (46.9) (100.0) | df=4
oo ~ Ad 28 46 45 119 =0.420
(235) (38.7) (37.8) (100.0)
} 47 54 79 180
“stal
) (26.1) (30.0) (43.9) (100.0) 22=13.697
s
o 27 91 86 204 dr=2
BIR=S:1 1A
(13.2) (44.6) (42.2) (100.0) p=0.001
70 129 157 356
WA
49 (19.7) (36.2) (44.1) (100.0) 22=4.851
WA WA 4 16 8 28 df=2
(14.3) (57.1) (28.6) (100.0) p=0.088
A 41 48 65 154
2_
S A (26.6) (31.2) (42.2) (100.0) 22=10.206
o 33 97 100 230 df=2
T (14.3) (42.2) (435) (100.0) | p=0.006
PE—— 71 139 161 371
(19.1) (37.5) (43.4) (100.0)
a2y et =4 3 4 4 11 22=3.807
(A3} (27.3) (36.4) (36.4) (100.0) | df=4
e 0 2 0 2 p=0.433
=9 (0.0) (100.0) (0.0) (100.0)
i 74 145 165 384
(19.3) (37.8) (43.0) (100.0)
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<G 1-13> AFAA S S e FEAAow WA 25| Utk
EEES
Q = -
-8 o | oA = Wt e A A 2
wel 2| 23t o | (RS [ 42 B
- 1 43 125 86 255
1= 92
o 04) | (169 | (49.0) | (337) | (100.0) | ?=4.956
o121 1 29 48 50 128 df=3
0.8) | @27 (375) (39.1) | (100.0) | p=0.175
0 7 7 12 26
Al o] F
20493 0o | 269 | 269 | ws2 | 1000
1 32 66 65 164
AT A
ol 097399 | 08 | 195 | @02 | (96 | aooo | z2<10207
1 2 41 14 -
404 ~ 494 g & S| di=o
07 | 475 | G31) | 287) | (100.0) | 1=0.334
0 8 24 18 50
Al ol Ak
S0 el (0.0) | (16.0) | (480) | (36.0) | (100.0)
T 0 10 22 24 56
0.0) | (17.9) | (39.3) | (42.9) | (100.0)
2_
ae 04 o4 2 40 94 72 208 £2=3.380
(L0O) | (19.2) | (45.2) | (346) | (100.0) | df=6
oo~ 0 22 57 40 119 5=0.760
(0.0) | (185 | (47.9) | (33.6) | (100.0)
y 1 45 86 48 180
Fstal
) 06) | (2500 | (478) | (26.7) | (100.0) | 4?=14.943
g
. 1 27 87 88 203 df=3
A=A
05) | (13.3) (42.9) (43.3) | (100.0) | p=0.002
2 67 153 133 355
FLA}
49 0.6) | (189) | (43.1) | (37.5) | (100.0) | #?=10.014
WA WA 0 5 20 3 28 df=3
0.00 | 179 (71.4) (10.7) | (100.0) | p=0.018
A 2 41 75 36 154
- (13) | (266) | (487) | (234) | (100.0) | 4?=22.750
8h 3 4 A 4]
o 0 31 98 100 229 df=3
T 0.0) | (135) | 428 | (437 | (100.0) | p=0.000
—— 2 67 166 135 370
05) | (181 | (449 | (365) | (100.0)
- etd =4 0 3 7 1 11 §°=12.312
o (A s 0.0) | 273) | 636) | 9.1 | (100.0) | df=6
awsta zq | 2 0 0 2 p=0.055
(0.0) | (100.0) | (0.00 | (0.0) | (100.0)
i 2 72 173 136 383
(0.5) | (188) | (452) | (355) | (100.0)
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<E 1-14> ALAA FHo g2 usdFol ofgwo] B
A =
Q < -
-8 wj g | A wigolc| e A7 2
#el agn| 2 || P R
. 2 127 100 27 256
=] 92_
. (0.8) | (496) | (39.1) | (105) | (100.0) | 4*=3.459
o] 2 2 %) 61 10 128 df=3
(16) | (43.0) (47.7) (7.8) (100.0) | p=0.326
2 10 12 2 26
A o] &l
24 e g | @es | ws2 | an | aoo
2 80 66 16 164
AT A
ol 097399 | o) | @ss) | w2 | 08 | a0 | 14202
14 144 -
104 ~ a9 | o1 6 d=9
0.0) | (465) | (43.8) 9.7 | (1000) | p=0.115
0 25 20 5 50
Al ol Ak
S0 el 0.0 | (50.0) | 40.0) | (10.0) | (100.0)
L0w m 3 21 25 7 56
(G4) | 375 | (446) | (125) | (100.0)
2_
wsaE | 104 oA 0 107 81 21 209 22=16.298
0.0 | (512) | (388) | (10.0) | (100.0) | qf=6
o0 ~ 30 1| A % &9 i 19 1 p-0.012
08) | 454) | 46.2) | (76) | (100.0)
] 2 96 i 5 180
Fa
) (1) | (533) | (428) | (28) | (100.0) | #?=19.131
SaFd
o 2 86 84 32 204 df=3
57_—0‘5}_!.11
(1.0) | (42.2) (41.2) (15.7) | (100.0) | p=0.000
4 169 148 35 356
FA}
49 (1.1 | (475) | (41.6) | 98) | (100.0) | 4?=0.661
WA WA 0 13 13 2 28 df=3
0.0) | 464) (46.4) (7.1) (100.0) | p=0.882
R 3 89 57 5 154
2_
S A (19) | (578) | 37.0) | (32) | (100.0) | 4*=20.263
o 1 93 104 32 230 df=3
e 04) | (404) | 452) | (13.9) | (100.0) | p=0.000
P 4 172 158 37 371
1.1) | 464) | (426) | (10.0) | (100.0)
shey et &< 0 8 3 0 11 %*=5.618
(At 0.0) | (727 | (27.3) | (0.0) | (1000) | =6
R 2 0 0 2 p=0.467
0.0) | 100.0) | (0.0) | (0.0) | (100.0)
A 4 182 161 37 384
(1.0) | 474) | (419) | (96) | (100.0)
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<E 1-15> nARES 5 FEgto] =0
o} 4] &2
% o = 1 3
LH UHE:— EHjJi E%O]UF :Lgé]-]] H;l(‘]:ﬂo 2 B A
%?__ 1’0‘ ——1’6‘ e:f}_ ("VT':E) x Rl
- 18 135 98 5 256
1= 92
o (7.0) | (527 | (383) | (20) | (100.0) | #?=3.419
o121 4 77 45 2 128 dt=3
(3.1) | (60.2) (35.2) (1.6) (100.0) | p=0.331
0 16 10 0 26
A o] &l
29K els 0.0) | 615) | (335 | (0.0) | (100.0)
6 91 64 3 164
Al A
ol S04 7394 | a0y | 555 | @900 | as | aooo 22=8.423
11 4 4 144 -
404] ~ 49A) 50 o df=9
(7.6) | (556) | (34.0) (28) | (100.0) | p=0.492
5 25 20 0 50
Al ol Ak
504 el (10.0) | (50.0) | (40.0) | (0.0) | (100.0)
104 ] 0 35 20 1 56
0.0) | 625) | 357 | 1.8 | (100.0)
2_
ae 04 o4 12 111 80 6 209 £*=8.964
G7 | 631D | (383) | (29 | (100.0) | df=6
oo~ 10 66 43 0 119 5=0.176
(84) | (555) | 36.1) | (0.0) | (100.0)
) 20 119 40 1 180
e
) (11.1) | 66.1) | (22.2) | (06) | (100.0) | 4?=47.930
stul g
e 2 93 103 6 204 df=3
A=A
(1.0) | (456) (50.5) (2.9) (100.0) | p=0.000
22 200 127 7 356
FLA}
49 (6.2) | (56.2) | (35.7) | (20) | (100.0) | ?=6.328
w2 A} 0 12 16 0 28 df=3
0.0) | (42.9) (57.1) 0.0) (100.0) | p=0.097
A 15 103 34 2 154
2_
st 9.7) | 669 | (22.1) | (1.3) | (100.0) | 4?=29.827
o 7 109 109 5 230 df=3
T (30) | 474) | 474 | 22 | (100.0) | p=0.000
—— 20 206 138 7 371
(54) | (555) | (372) | (1.9 | (100.0)
N et &< 2 5 4 0 11 §2=3.707
o (A s (182) | (455) | (364) | (0.0) | (100.0) | gf=6
awsta zq | 1 1 0 2 p=0.716
0.0 | 50.0) | (50.0) | (0.0) | (100.0)
i 22 212 143 7 384
G7) | (552) | (372) | (1.8) | (100.0)




Q = -
HE L AR | qag | O )
9l agr | 1% o (N E8) 2 A
- 18 115 118 5 256
1= 27
. (7.0) | (449 | (461 | (20) | (100.0) | #?=2.893
o1 7} 11 60 57 0 128 d=3
86) | (46.9) (44.5) 0.0) (100.0) | p=0.408
1 14 11 0 26
Al o] F
204 et (38) | (538) | 42.3) | (0.0) | (100.0)
9 75 79 1 164
AT A
ol 304 394 55 | 457 | 482) | (06) | (100.0) | x*=10.752
12 4 144 -
4041~ 49A] o8 o0 df=9
83) | 47.2) (41.7) (28) | (100.0) | pH=0.293
7 18 25 0 50
Al ol Ak
504 el (14.0) | 36.0) | (50.0) | (0.0) | (100.0)
104 ] 4 23 28 1 56
(7.0 | 41D | (50.00 | (1.8) | (100.0)
2_
P 104 o] 4 5 99 102 3 209 2£$=23.916
(24) | (474) | 488) | (1.4) | (100.0) | df=6
o0~/ 20 53 45 1 119 =0.001
(168) | (445) | (37.8) | (0.8) | (100.0)
} 22 93 62 3 180
Fstal
) (12.2) | GL7) | (344) | (1.7 | (100.0) | 4?=22.099
st
. 7 82 113 2 204 df=3
BIR=S:1 1A
(34) | (40.2) (55.4) (1.0) (100.0) | p=0.000
27 167 158 4 356
FLA}
49 (76) | 469 | (444) | (1.1) | (100.0) | ?=4.636
WA WA 2 8 17 1 28 df=3
(7.1) | (286) (60.7) (3.6) (100.0) | p=0.200
A 10 86 57 1 154
2_
st (65) | (55.8) | (37.0) | (0.6) | (100.0) | 4?=11.309
o 19 89 118 4 230 dr=3
T ®3) | 387 | G13) | 17 | (100.0) | p=0.010
IR 28 164 174 5 371
(75 | (442) | 469 | (1.3) | (100.0)
shey etd =4 1 9 1 0 11 %°=9.251
(A8t (9.1) | (81.8) 9.1) 0.0) | (100.0) | af=6
jpep——— 2 0 0 2 p=0.160
0.0) | (100.0) | (0.0) (0.0) | (100.0)
i 29 175 175 5 384
(76) | (456) | 456) | (1.3) | (100.0)
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<E 117> wd - 9 AR E B AFEEEe] ool BH

ERED
Q = -

-8 wj g | A wigolc| e A7 2
Wl 2| 2¥d o | (ER) | 4 BA
- 13 122 120 1 256

1= 92
o (G51) | (477 | (469) | (04) | (100.0) | ?=3.832
o1 4} 5 65 55 3 128 df=3
(39 | (50.8) (43.0) (2.3) (100.0) | p=0.280
0 13 12 1 26
Al o] F
204 et 0.0) | (50.0) | (46.2) | (3.8) | (100.0)
8 83 70 3 164
AT A
ol 304 394 (49) | (50.6) | 427 | (1.8) | (100.0) | x*=8.066
2 144 -
104 ~ a9 | T 6 ! 0 d=9
(4.9) | 45.1) | (50.0) 0.0) | (100.0) | p=0528
3 26 21 0 50
Al ol Ak
S0 el (6.0 | (52.0) | (42.0) | (0.0) | (100.0)
104 ] 0 32 23 1 56
0.0) | G7.1) | (41.1) | (1.8) | (100.0)
2_
P 104 o] 4 10 91 105 3 209 22=10.334
(48) | (435) | (50.2) | (1.4) | (100.0) | df=6
o0 ~ 30 | 2 % { g 19 1 peo.111
(6.7) | (638) | (395) | (0.0) | (100.0)
) s 87 75 1 180
Fstal
) (94) | 483) | (1.1 | (06) | (100.0) | 4?=18.269
s
. 1 100 100 3 204 df=3
BIR=S:1 1A
05) | (49.0) (49.0) (1.5) (100.0) | p=0.000
17 174 161 4 356
FLA}
9] 48) | 489 | 452) | (LD | (100.0) | »?=0557
E 1 13 14 0 28 df=3
(36) | (46.4) (50.0) 0.0) (100.0) | p=0.906
A 7 85 61 1 154
2_
st A4 (45) | (552) | (39.6) | (0.6) | (100.0) | #%=4.625
o 11 102 114 3 230 df=3
e (48) | (443) | (496) | (1.3) | (100.0) | p=0.201
—— 17 182 168 4 371
(46) | (49D | 453) | (1D | (100.0)
shey et &< 1 5 5 0 11 %°=3.012
(4 3t 9.1 | (455) | (455) | (0.0) | (100.0) | df=6
jpep——— 0 2 0 2 p=0.807
0.0) | 0.0) | (100.0) | (0.0) | (100.0)
i 18 187 175 4 384
47 | 487 | 456) | (1L0) | (100.0)
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<GE1-18> HoA A FAEX 7L Hokste] ofro] BHt

EEE
Q = -

-8 wj g | A wigolc| e A7 2
wel agn | agd | (RS [  EA
- 6 110 133 7 256

1= = 27
o (23) | (430) | (520) | (27) | (100.0) | #?=0.610
o121 4 54 65 5 128 df=3
(3.1 | 422) | (50.8) (39) | (100.0) | p=0.894
1 9 15 1 26
A o] &l
24 9| 59 | @ae | e | 68 | o
5 63 91 5 164
AT A
ol 09734 ) 500 | @80 | 655 | 6o | 1000 22=7.502
2 144 -
404 ~ 494 00 70 0 df=9
(14) | (458) (48.6) (4.2) (100.0) | p=0585
2 26 22 0 50
Al ol Ak
S0 el (4.0) | (520) | (44.0) | (0.0) | (100.0)
T 3 16 35 2 56
(54) | (286) | (625) | (36) | (100.0)
2_
ae 04 o4 3 82 116 8 209 2£2=17.181
(14) | (392 | (555) | (3.8) | (100.0) | df=6
o0~/ 4 66 47 2 119 5=0.009
(34) | (655 | 395) | (17| (100.0)
y 9 94 75 4 180
F3ha
) (5.0) | (522) | (406) | (22) | (100.0) | 4?=23.494
REA= L
. 1 70 125 8 204 df=3
BIR=S:1 1A
05) | (34.3) | (61.3) (39) | (100.0) | p=0.000
10 146 188 12 356
FLA}
49 (28) | (41.0) | (528) | (34) | (100.0) | #?=6.494
E 0 18 10 0 28 df=3
0.0) | 643) | 357 0.0) | (100.0) | p=0.090
A 6 75 71 2 154
2_
st A (3.9 | 487 | 46.1) | (1.3) | (100.0) | #?=8.040
o 4 89 127 10 230 df=3
T 17 | 387 | 352 | 43) | (1000) | p=0.045
P 10 157 193 11 371
@7 | 423 | (5200 | (30) | (100.0)
shey etd =4 0 7 3 1 11 %°=5.875
(A 8 0.0) | (636) | (27.3) | (9.1 | (100.0) | gf=6
Al I 2 0 2 | pe0437
0.0) | 0.0 | (100.0) | (0.0) | (100.0)
A 10 164 198 12 384
(26) | 427 | (51.6) | (31 | (100.0)
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<GE 1-19> w5 F o] AF uiH o] EAS =21%
o] A =
Q = -

-8 wj g | A wigolc| e A7 2
wel a2 | 2y o | (AR 4 EA
- 37 131 81 7 256

= 9_
o (145) | (512) | (B16) | @7 | (100.0) | 4?=0.287
o1 7} 18 69 38 3 128 df=3
(14.1) | (53.9) (29.7) (2.3) (100.0) | p=0.963
5 15 6 0 26
Al o] F
204 et (192 | 6577 | @31 | 0.0 | (100.0)
22 85 54 3 164
AT A
ol 047399 1 13 | s18) (329) | (1.8 | (100) 2°=8.183
22 4 144 -
404 ~ 494 ™ 0 ! df=9
(153) | (52.1) | (27.8) (49 | (1000) | p=0516
6 25 19 0 50
Al ol Ak
04 1900 | 500 (3L0) | (0.0) | (100.0)
T 10 32 14 0 56
(179 | 7.1 | 2500 | (0.0) | (100.0)
2_
ae 04 o4 32 101 69 7 209 2£=5.692
(153) | (483) | (33.0) | (33) | (100.0) | df=6
o0~/ 13 67 36 3 119 =0.459
(109) | (6563 | 30.3) | (25) | (100.0)
) 42 97 37 4 180
Fstal
) (233) | (539) | (206) | (22) | (100.0) | 4?=31511
s
. 13 103 82 6 204 df=3
A=A
6.4) | (50.5) (40.2) (2.9) (100.0) | p=0.000
54 183 110 9 356
FLA}
49 (152) | (51.4) | (309) | (25) | (100.0) | #?=2.991
w2 A} 1 17 9 1 28 df=3
(36) | (60.7) (32.1) (3.6) (100.0) | p=0.393
A 39 78 32 5 154
o (25.3) | (50.6) | (20.8) | (32) | (100.0) | %=30.887
8h 3 4 A 4]
o 16 122 87 5 230 df=3
T (7.0) | (830) | 37.8) | (22) | (100.0) | p=0.000
—— 54 191 116 10 371
(146) | (515 | (31.3) | 27 | (100.0)
shey et &< 1 8 2 0 11 %*=2.613
(A 3t @D | (727 | (182) | (0.0) | (100.0) | df=6
jpep——— 1 1 0 2 p=0.856
0.0) | (50.0) | (50.0) | (0.0) | (100.0)
i 55 200 119 10 384
(143) | (52.1) | (31.0) | (26) | (100.0)




<GE 1-20> 4 AlSg wAZdd wAREY] v RS Z-Fo] Stk
ERED
Q = -
-8 wj g | A wigolc| e A7 2
Wl 2| 2¥d o MEE) | A
- 11 130 27 83 256
1= 27
. (4.3) | (50.8) | (105) | (34.4) | (100.0) | #?=1.155
o1 7} 8 63 13 39 128 df=3
63) | 531 | 10.2) | (305 | (100.0) | p=0.764
1 10 2 13 26
Al o] F
204 et (38 | 385 | 7.1 | (50.0) | (100.0)
10 75 21 58 64
AT A
ol 304 394 6.1) | (457) | (128) | (354) | (100.0) | x*=12.841
12 144 -
104 ~ a9 | T 5 57 df=9
49) | (61.1) (8.3) (257) | (100.0) | p=0.170
1 25 5 19 50
Al ol Ak
S0 el (2.0) | (50.0) | (10.0) | (38.0) | (100.0)
T 1 25 2 28 56
(18) | “446) | (36) | (50.0) | (100.0)
2_
P 104 o] 4 11 101 29 63 209 2*=16.668
(5.3) | (483) | (13.9) | (325) | (100.0) | df=6
20 ~ 30 1| [ 4 3 19 1 p-0.011
(59) | 605) | (7.6) | (26.1) | (100.0)
} 19 146 2 3 180
Fstal
) (106) | LD | 67 | (1.7) | (100.0) | »?~184.531
s
. 0 52 28 124 204 df=3
BIR=S:1 1A
0.00 | (255) (13.7) (60.8) | (100.0) | p=0.000
19 179 36 122 356
FLA}
49 (5.3) | (50.3) | (10.1) | (34.3) | (100.0) | ?=5.598
A A 0 19 4 5 28 df=3
0.0) | (67.9) (14.3) (179) | (100.0) | p=0.133
A 14 112 12 16 154
2_
st 0.1 | 127 | (78) | (104) | (100.0) | 4?=72.956
o 5 86 28 111 230 df=3
T (22) | 374) | (122) | (483) | (100.0) | p=0.000
—— 19 188 38 126 371
G | 607 | (10.2) | (340) | (100.0)
shey et &< 0 9 1 1 11 %*=8.377
(A 3t 0.0 | 81.8) | .1 9. | (100.0) | df=6
jpep——— 1 1 0 2 p=0.212
0.0) | (50.0) | (50.0) | (0.0) | (100.0)
i 19 198 40 127 384
49 | 516) | (104) | (33.1) | (100.0)
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<GE 2-1> wARS] tiste] By 1ol FAHSA o] FolAAL ATt
o] A =
Q. - -
-8 o | oA = Wt e A A 2
wel agg | g e [(RES) | P A
- 2 181 72 1 256
1= 92
o 08) | (700 | (28.1) | (0.4) | (100.0) | »?=4.886
o1 0 84 41 3 128 df=3
0.0) | (65.6) (32.0) (2.3) (100.0) | p=0.180
0 13 13 0 26
Al o] F
20491 0o | 500 | 00 | ©00 | 1000
0 104 57 3 164
AT A
ol 097399 | 00 | @30 | @48 | o18) | aooo) | 4218378
2 1 4 1 144 -
404 ~ 494 o1 ’ d=9
(1.4) | (743) | (236) 0.7 | (100.0) | p=0.031
0 41 9 0 50
Al ol Ak
S0 el 0.0) | (820) | (180) | (0.0) | (100.0)
oW g 0 27 29 0 56
0.0) | 482 | (51.8) | (0.0) | (100.0)
2_
s | 109 on 0 145 62 2 209 22=24.829
0.0) | 694) | (29.7) | (1L0) | (100.0) | df=6
o0~/ 2 93 22 2 119 5-0.000
(1L7) | 782y | a8s)y | (17| (100.0)
} 2 161 17 0 180
% shal
) (1D | 894 | (94 | (0.0) | (100.0) | 4?=72.273
sl
o 0 104 96 4 204 df=3
BIR=S:1 1A
0.00 | (610 (47.1) (2.0) (100.0) | p=0.000
2 241 110 3 356
WA
49 06) | 67.7) | (309 | (0.8) | (100.0) | »?=6.828
A A} 0 24 3 1 28 df=3
0.0) | &85.7) (10.7) (3.6) (100.0) | p=0.078
A 1 133 20 0 154
2_
st A 06) | (864) | (13.0) | (0.0) | (100.0) | ?=37.594
o 1 132 93 4 230 df=3
T 04) | 657.4) | 404 | 1.7 | (100.0) | p=0.000
P 2 253 112 4 371
05) | 682) | (302) | (1.1 | (100.0)
shey et &< 0 11 0 0 11 2*=5.479
Sk (0.0) | (100.0) | (0.0) | (0.0) | (100.0) | qf=6
st e | O 1 1 0 2 p=0.484
0.0) | (50.0) | (50.0) | (0.0) | (100.0)
A 2 265 113 4 384
05) | 69.0) | (294) | (1.0) | (100.0)
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ERED
Q = -

HE L AR ey | A 2
wel oo | 2 o | (AR 4 EA
- 6 177 73 0 256

1= 27
. (2.3) | (69.1) | (285) | (0.0) | (100.0) | #?=2.319
o1 7} 4 89 34 1 128 df=3
(3.1) | (69.5) (26.6) 0.8) (100.0) | p=0.509
0 18 8 0 26
Al o] F
20 el 0.0) | (69.2) | (30.8) | (0.0) | (100.0)
4 112 47 1 164
AT A
ol 3071~ 394 (24) | (683) | 287 | (06) | (100.0) | x*=4.120
4 42 144 -
4041 ~ 494 s 0 df=9
(2.8) | 681) | (29.2) 0.0) | (100.0) | pH=0.903
2 38 10 0 50
Al ol AF
S0 el (4.0) | (76.0) | (20.0) | (0.0) | (100.0)
104 ] 0 37 19 0 56
0.0) | 66.1) | (339 | (0.0) | (100.0)
2_
P 104 o] 4 7 141 60 1 209 22=4.897
(33) | (67.5) | (287) | (0.5 | (100.0) | df=6
o0~/ 2 88 28 0 119 0=0557
(25) | (739 | 235) | (0.0) | (100.0)
) 10 133 37 0 180
Fstal
) (5.6) | (739 | (206) | (0.0) | (100.0) | 4?=19.755
s
o 0 133 70 1 204 df=3
BIR=S:1 1A
0.0) | (65.2) (34.3) (0.5) (100.0) | p=0.000
10 245 100 1 356
FLA}
9] (28) | (688) | (281) | (03) | (100.0) |  #*=1.097
w2 A} 0 21 7 0 28 df=3
0.0) | (75.0) (25.0) 0.0) (100.0) | p=0.778
A 10 116 28 0 154
2_
st (65) | (75.3) | (182) | (0.0) | (100.0) | 4?=25616
o 0 150 79 1 230 df=3
T 0.0) | 652) | (343) | (04) | (100.0) | p=0.000
IR 10 258 102 1 371
2.7 | 695 | (275) | (0.3) | (100.0)
shey et &< 0 8 3 0 11 2*=5.548
(4 3t 0.0) | (727 | (273) | (0.0) | (100.0) | df=6
jpep——— 0 2 0 2 p=0.476
0.0) | 0.0) | (100.0) | (0.0) | (100.0)
i 10 266 107 1 384
(26) | (69.3) | (279) | (0.3) | (100.0)
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<E 2-3> SWPRAA AU} o H@THE IAE AT Uk

o A =
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-8 wj] - o) A 2 BEoth @ A A )
ol oo | 2% RN G E 00 B =S
- 15 167 73 1 256
1= 27
. (5.9) | (652) | (285) | (04) | (100.0) | #?<1.055
o1 7} 10 81 37 0 128 d=3
(7.8) | (63.3) (28.9) 0.0) (100.0) | p=0.783
1 11 14 0 26
A o] &l
204 et (38) | (423) | (52.8) | (0.0) | (100.0)
10 108 46 0 164
AT A
ol 304 394 6.1) | 659 | 280) | (0.0) | (100.0) | x*=17.368
12 144 _
4041~ 49A] o % 0 df=9
(8.3) | (64.6) (27.1) 0.0) | (100.0) | p=0.043
2 36 11 1 50
Al ol Ak
S0 el (40 | (7200 | 2200 | (2.0) | (100.0)
104 ] 1 29 26 0 56
(18) | (51.8) | 464) | (0.0) | (100.0)
2_
P 104 o] 4 13 136 60 0 209 22=16.627
62 | 65.1) | 287 | (0.0) | (100.0) | df=6
o0~/ 11 83 24 1 119 5=0.011
(92) | 69.7) | 20.2) | (0.8) | (100.0)
} 25 122 33 0 180
FohaL
) (139) | (67.8) | (183) | (0.0) | (100.0) | 4?=42.330
st
. 0 126 77 1 204 df=3
BIR=S:1 1A
0.0) | (61.8) (37.7) (0.5) (100.0) | p=0.000
25 228 102 1 356
FLA}
49 (7.0) | (64.0) | (287) | (0.3) | (100.0) | #?=2.264
WA WA 0 20 8 0 28 df=3
0.0) | (711.4) (28.6) 0.0) (100.0) | p=0519
A 15 106 33 0 154
2_
st 9.7) | 688) | (21.4) | (0.0) | (100.0) | 4?=10.183
o 10 142 77 1 230 dr=3
T 43) | 6L7) | (335 | (04) | (100.0) | p=0.017
—— 23 238 109 1 371
62) | 642) | (294) | (0.3) | (100.0)
shey et &< 2 9 0 0 11 %°=6.644
(A8t (182) | (81.8) (0.0) (0.0) | (100.0) | af=6
jpep——— 1 1 0 2 p=0.355
0.0) | 50.0) | (50.0) | (0.0) | (100.0)
i 25 248 110 1 384
65 | 64.6) | (286) | (0.3) | (100.0)

_83_



<E 24> PSS Azt o 21 Yo

o A =
oK > -

B Il B O e B 2
ol agn | o RN G E 00 B =S
- 22 140 93 1 256

1=3 27
. 86) | 547 | (363) | (0.4) | (100.0) | »?=0.817
o1 7} 13 70 44 0 127 di=3
(10.2) | (B55.1) (34.6) 0.0) (100.0) | p=0.845
0 14 12 0 26
Al o] 3§
28T 00 | @38 | we | 0o | 1000
14 84 66 0 164
Al T A
ol 047399 1 g5 | 612 | @2 | 00 | a0 | -1759%
1 44 14 _
404 ~ 494 ! %0 0 S| df9
(13.3) | (55.9) | (30.8) 0.0) | (100.0) | p=0.040
2 32 15 1 50
Al ol Ak
20 el 4.0) | 640 | (3000 | (20) | (100.0)
104 ] 0 29 27 0 56
0.0) | (51.8) | 482) | (0.0) | (100.0)
2_
waAeE | 109 o4 20 116 73 0 209 2’=12.276
96) | (555) | (349) | (0.0) | (100.0) | df=6
od ~oa Bl 65 3% 1 118 5=0.056
(12.7) | (55.1) | (31.4) | (0.8) | (100.0)
y 34 100 45 0 179
T3t
) (19.0) | (55.9) | (251) | (0.0) | (100.0) | ?=47.284
Sy
e 1 110 92 1 204 df=3
BIR=S:1 1A
05) | (639 (45.1) (0.5) (100.0) | p=0.000
34 195 125 1 355
FLA}
49 96) | (549 | (352) | (03) | (100.0) | »?=1536
w2 A} 1 15 12 0 28 df=3
(36) | (53.6) (42.9) 0.0) (100.0) | p=0.674
A 23 91 40 0 154
2
st (149 | 59.1) | (2600 | (0.0) | (100.0) | #?=17.906
o 12 119 97 1 229 df=3
T (5.2) | (520) | 424) | (04) | (100.0) | p=0.000
qetm zq | P 202 134 1 370
(89) | (546) | (362 | (03) | (100.0)
shey etd =4 2 7 2 0 11 §$=2.475
(A3t (182) | (636) | (182) | (0.0) | (100.0) | df=6
jpep——— 1 1 0 2 p=0.871
0.0) | (50.0) | (50.0) | (0.0) | (100.0)
i 35 210 137 1 383
9.1) | (54.8) | (35.8) | (0.3) | (100.0)
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<& 2-5> AATHE 7HA A gt FAE sty ot
A =
Q = -
-8 wj g | A wigolc| e A7 2
Wl age| 2yt o[RS 2 B
. 21 147 86 2 256
1= 27
. (82) | (57.4) | (336) | (08) | (100.0) | 42=0.052
o1 11 72 44 1 128 daf=3
86) | (56.3) | (344 0.8) | (100.0) | p=0.997
1 14 11 0 26
A o] &l
24 e 59 | 8 | @23 | 00 | oo
11 98 53 2 164
AT A
ol 00739 1 67 | ms) | @ | a2 | oo 2°=8.190
1 4 4 144 -
404 ~ 494 ; i ! 0 df=9
(9.0) | (68.3) (32.6) 0.0) (100.0) | p=0515
7 23 19 1 50
Al ol Ak
09 40 | weo | @80 | @o | aoo
oW g 1 33 22 0 56
(1.8) | (589 | (39.3) | (0.0) | (100.0)
2_
s | 109 on 12 123 72 2 209 22=14.883
G7) | (689 | (34.4) | (1L.0) | (100.0) | =6
o ~/ball 63 36 1 119 -0.021
16.0) | (529 | (30.3) | (0.8) | (100.0)
] 27 100 52 1 180
F 3t
) (150) | (556) | (289) | (06) | (100.0) | ?=20.888
SaFd
o 5 119 78 2 204 df=3
BIR=S:1 1A
(25) | (683) | (38.2) (1.0) | (100.0) | p=0.000
29 204 120 3 356
TA} )
e B | (57.3) | 33.7) | (0.8) | (100.0) | #?=0.536
A A} 3 15 10 0 28 df=3
(10.7) | (53.6) | (357) 0.0) | (100.0) | p=0911
R 21 89 44 0 154
2_
S A (136) | (57.8) | (286) | (0.0) | (100.0) | 4?=12.831
o 11 130 86 3 230 df=3
T 48) | 565) | 374) | (1.3) | (100.0) | p=0.005
ge 2 | 2 212 127 3 371
(78) | 57.1) | (342) | (0.8) | (100.0)
shey etd =4 3 6 2 0 11 %°=6.123
(At (27.3) | (545) | (182) | (0.0) | (100.0) | qf=6
et =g | 0| ! 0 2 | p=0410
0.0) | 50.0) | (50.0) | (0.0) | (100.0)
A 32 219 130 3 384
83) | 57.00 | (339) | (0.8) | (100.0)
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<E 26> FYEL ol B BIE Yt

ERED
KR = -

-8 wj g | A wigolc| e A7 2
wel a2 | 2y o | (AR 4 EA
- 29 155 71 1 256

= 9_
o (11.3) | (605 | 27.7) | (04) | (100.0) | 4?=1.441
o1 7} 19 75 34 0 128 df=3
(14.8) | (58.6) (26.6) 0.0) (100.0) | p=0.696
4 16 6 0 26
Al o] F
204 e | s | 615 | @30 | 0o | 1000
20 9% 49 0 164
Al T A
ol 047399 1 199 | 519 | @99 | 00 | 1000 £2=9.409
1 4 144 -
404 ~ 494 ¥ % 0 0 d=9
(132) | (59.0) | (27.8) (0.0) | (100.0) | p=0.400
5 34 10 1 50
Al ol Ak
09 T 00 | 680 | @00 | @o | ano
104 ] 7 33 16 0 56
(125 | (589) | 286) | (0.0) | (100.0)
2_
P 104 o] 4 27 122 60 0 209 2$=3.150
(12.9) | (584) | (287 | (0.0) | (100.0) | qf=6
o0~/ 14 75 29 ] 119 =0.790
(11.8) | (630 | @44) | (0.8) | (100.0)
) 27 108 45 0 180
ot
) (15.0) | (60.0) | (250) | (0.0) | (100.0) | »?=3.258
sl
e 21 122 60 1 204 df=3
A=A
(10.3) | (59.8) (29.4) (0.5) (100.0) | p=0.354
43 212 100 1 356
FLA}
49 (12.1) | (6896) | (281) | (03) | (100.0) | #*=1.863
WA WA 5 18 5 0 28 df=3
(179) | (64.3) (17.9) 0.0) (100.0) | p=0.601
A 26 86 42 0 154
2_
st A4 (169) | (55.8) | (27.3) | (0.0) | (100.0) | 4?=5.326
o 22 144 63 1 230 df=3
T 96) | 626) | 274 | (04) | (100.0) | p=0.149
—— 47 222 101 1 371
(127 | (598) | 7.2) | (0.3) | (100.0)
shey et &< 1 7 3 0 11 %°=0.832
(4 3t 9.1 | (636) | (27.3) | (0.0) | (100.0) | df=6
jpep——— 1 1 0 2 p=0.991
0.0 | (50.0) | (50.0) | (0.0) | (100.0)
i 48 230 105 1 384
(125 | (599 | (27.3) | (0.3) | (100.0)
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<E 2-7> FRUAR BE ALSA Stae] SRehs As ARSHA 2T
2 = -
R I IR 2
9 o) agn | 299 R g P s
- 36 154 65 255
. B (14.) | (604) | (255) | (100.0) | #*=0.040
° T o1 19 77 32 128 df=2
(14.8) (60.2) (25.0) (100.0) p=0.930
_ 2 20 4 26
Al o| 5
20 el (7.7) (76.9) (154) | (100.0)
24 98 41 163
304 ~ 39~
ol 047391 4 | w0 (25.2) (100.0) 22=6.121
1 4 144 -
404~ 494 § 50 0 dr=6
(12.5) (59.7) (27.8) (100.0) p=0.410
11 27 12 50
5041 o]
held (220) | (5400 | (240) | (100.0)
L0 ] 5 38 13 56
(8.9) (67.9) (23.2) | (100.0)
27 126 55 208 22=4.563
n57d o | o]
e 104 <] 130) | 606 | @64 | 1000) | g4
204 ~ 304 23 67 29 119 p=0.335
(19.3) | '(56.3) (24.4) | (100.0)
- 24 106 50 180
=
_ (133) | (589 (27.8) | (100.0) 22=1.169
Sl
e~ 31 125 47 203 df=2
(15.3) (61.6) (23.2) (100.0) p=0.557
51 211 93 355
LA
49 (14.4) | (594) (26.2) | (100.0) 22=2.073
B WA 4 20 4 28 df=2
(14.3) (71.4) (14.3) (100.0) p=0.355
A 26 83 45 154
i (169) | (539 (29.2) | (100.0) 22=4.443
S22 A
o 29 148 52 229 df=2
T 127 | 646) | 27 | (100.0) | p=0.108
) 51 225 94 370
sl =
HEE S 138 | 608 | @54 | 1000
- ek =4 4 5 2 11 22=5.238
(A8 (36.4) (45.5) (18.2) (100.0) df=4
IR 0 1 1 2 p=0.264
(0.0) (50.0) (50.0) | (100.0)
A 55 231 97 383
(14.4) | (60.3) (25.3) | (100.0)




& )| © o)A = A A
N E%O]E}— =] ]o 2 B
g | ¥ (HEE) ¥ A
- 56 141 59 256
i (219 | (551 | (2300 | (100.0) | #?=2.028
o7} 22 80 26 128 df=2
(17.2) (62.5) (20.3) (100.0) p=0.363
7 15 4 26
294 ©] 3
e s | e | asa | awo
27 103 34 164
Al T A
049734 1 65 | 628 (20.7) (100.0) 2’=12.464
- 26 80 38 144 af=6
40A) ~ 49~
0 f (18.1) (55.6) (26.4) (100.0) p=0.052
1 2
504 17 § g X o0
(36.0) | (46.0) (180) | (100.0)
L0 ] 14 31 11 56
(25.0) | (55.4) (19.6) | (100.0)
2_
PP 104 o4 29 134 46 209 2*=13.870
(13.9) | (64.D (22.0) | (100.0) | df=4
204 ~ 304 35 56 28 119 p=0.008
(294) | |- (@D (285) | (100.0)
g 4 29 115 36 180
F ot
(161) | (639 (20.0) | (100.0) 22=6.006
[~ 49 106 49 204 df=2
(24.0) | (52.0) (24.0) | (100.0) | p=0.050
_ 71 206 79 356
WA}
(19.9) | (579 (22.2) | (100.0) 22=0.417
w2 A} 7 15 6 28 df=2
(25.0) (53.6) (21.4) (100.0) p=0.812
A 38 84 32 154
(247) | (545) (20.8) | (100.0) | 4?=3.027
o 40 137 53 230 df=2
T a74) | (96) | (230) | (100.0) | p=0.220
L 73 216 82 371
[T
HEES L qon | e8| @ | 000
shey ek =4 5 3 3 11 22=6.885
(A 8 (455) | (273) (27.3) | (100.0) | df=4
et w9 | ; 0 2 | p0.142
0.0) | (100.0) | 90.0) (100.0)
78 221 85 384
(20.3) | (57.6) (22.1) | (100.0)




<E 2-9> BRIAPL ofele ol A5 A4S Uzt go] Mol Ferh

W& K ol A 2 A
N ] E%O]E}— B ]o 2 B
W o] g8y A= (WEE) X A
- 62 131 63 256
. B (242) | (51.2) | (246) | (100.0) | #?=1.894
°T o1 26 75 27 128 af=2
(20.3) (58.6) (21.1) (100.0) p=0.388
_ 7 13 6 26
Al o|l&
2040 et (269) | (50.0) (23.1) (100.0)
34 93 37 164
304 ~ 39x
ol 3047 394 207) | (56.7) (22.6) (100.0) 22=6.647
2 144 -
404 ~ 494] 9 79 36 df=6
(20.1) (54.9) (25.0) (100.0) p=0.355
18 21 11 50
A o] Ak
504 <] (36.0) | (420 (22.0) (100.0)
. 14 26 16 56
(250) | (46.4) (28.6) (100.0)
_ 40 118 51 209 2°=5.544
1572 d o)4
e 10d 2 191 | 65 | @44 | 1000 | di=4
204 ~ 304 34 62 23 119 p=0.236
(286) | (52.1) (19.3) (100.0)
e 38 97 45 180
%3t )
—— (2L.1) | (539 (25.0) (100.0) 22=0.839
P 50 109 45 204 df=2
(24.5) (53.4) (22.1) (100.0) p=0.657
: 83 186 87 356
WA}
43 (233) | (522) (24.4) | (100.0) 22=4.204
w2 A} 5 20 3 28 df=2
(17.9) (71.4) (10.7) (100.0) p=0.122
A 40 77 37 154
i (2600 | (50.0) | (240) | (100.0) | 4?=1.724
REES R
o 48 129 53 230 dt=2
T (209 | G6.1) | (230) | (100.0) | p=0.422
o 83 199 89 371
[T
At =9 o | 36 | @00 | (1000
shey kel £l 4 6 1 11 2%=3.046
(A et (36.4) | (545) (9.1) (11.0) df=4
T 1 1 0 2 p=0.550
(50.0) | (50.0) (0.0) (100.0)
A 83 206 90 334
(229) | (53.6) (23.4) (100.0)
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<GE 2-10> W - 9] AR X F3 Ak 7] o] Fednt

& uj] © A= A A
M ] E%O]E}— =] ]o 2 B
H ol aga | 294 (N 8&) ¥ A
- 87 123 44 254
. B (343) | (“84) | (173) | (100.0) | 4?5623
° T o1 31 78 19 128 df=2
(24.2) (60.9) (14.8) (100.0) p=0.060
) 8 11 7 26
Al o|l&
2040 elst (30.8) | (423) (26.9) (100.0)
40 97 27 164
304 ~ 39~
ol 047399 o4 | o) (16.5) (100.0) 2£2=9.745
4 2 142 -
404~ 494 o 0 ; df=6
(34.5) (49.3) (16.2) (100.0) p=0.136
21 23 6 50
5041 ©]%
I el (42.0) | (46.0) (120) | (100.0)
. 15 29 12 56
(26.8) | (51.8) (21.4) (100.0)
_ 56 115 36 207 2*=7015
1572 d o)4
e 10d 2 @71 | 56 | 174 | 1000 | di=4
204 ~ 304 47 57 15 119 p=0.135
(39.5) | | - 47.9) (12.6) (100.0)
o 56 102 21 179
3l )
—— (3L.3) | (57.0) (11.7) (100.0) 2%=5.865
[~ 62 99 42 203 df=2
(30.5) | (488) (20.7) (100.0) | p=0.053
_ 110 184 60 354
WA}
43 (BLD | (520) (169) | (100.0) 22=1.041
w2 A} 8 17 3 28 df=2
(28.6) (60.7) (10.7) (100.0) p=0.594
A 52 80 21 153
i (3400 | (B23) | (137 | (100.0) | 4?<1.982
REES R
o 66 121 42 229 df=2
T (288) | (528) | (183) | (100.0) | p=0371
o 112 194 63 369
[T
HEES 0w | e2e) | ann | 000
shey kel £l 6 5 0 11 22=5.825
(A 8 (545) | (455) (0.0) (100.0) | df=4
JRRRE— 0 2 0 2 p=0.213
0.0) | (100.0) (0.00 (100.0)
A 118 201 63 382
(30.9) | (526) (16.5) (100.0)




<GE 2-11> A|EF wfolEoly S5olE8 A7 HholEo £S5 &8st}
A =
& o . o7 I %
B B e Pt B P 2 u
%?_] 1*5‘11]' A (3-51' (";T':E) x RUN |
- 26 129 99 2 256
1= 9
. (102) | (504) | (387 | (0.8) | (100.0) | #?=1.675
o1 11 62 55 0 128 df=3
(8.6) | (484) (43.0) 0.0) (100.0) | p=0.643
3 15 8 0 26
X ol 3
294 elst (115) | (6570 | 308) | (0.0) | (100.0)
14 83 62 0 164
Al T 394
Jol 304 ™ 394 (85) | (537 | (37.8) | 0.0) | (100.0) | #?=7.588
1 4 1 144 _
4041 ~ 494 3 66 0 df=9
(9.00 | (45.8) | (444) 0.7 | (1000) | p=0576
7 22 20 1 50
Al o]l Ak
B0 1% (14.0) | (44.0) | 400) | 2.0) | (100.0)
P 8 28 20 0 56
(14.3) | (50.0) | 35 | (0.0) | (100.0)
2_
P . 15 109 34 1 209 P=AT38
(72) | 522) | 402 | 05 | 100.0) | df=¢g
od ~ A8 14 54 50 1 119 D=0578
(11.8) | ‘54 | (42.0) | (0.8) | (100.0)
_ 18 86 76 0 180
F oL
) (100) | (47.8) | (422) | (00) | (100.0) | #?=2.453
shal
o 19 105 78 2 204 df=3
A=A
(93) | G515 | (382 | (1.0) | (100.0) | p=0.484
35 175 144 2 356
AA}
49 (98) | (49.2) | (404) | (0.6) | (100.0) | #?=0.830
w2 A} 2 16 10 0 28 df=3
(7.1) | (B7.1) (35.7) 0.0 (100.0) | p=0.842
R 18 78 58 0 154
2_
st (117 | (506) | (377 | (0.0) | (100.0) | 4?=2.889
o 19 113 9% 2 230 df=3
M (83) | (49.) | (41D | (0.9 | (100.0) | p=0.409
—. 34 185 150 2 371
9.2) | (499) | 404) | (05 | (100.0)
shey et =4 2 6 3 0 11 22=5.929
(A& (182) | (545) | (27.3) | (0.0) | (100.0) | df=g
I 1 0 1 0 2 p=0.431
(50.0) | (0.0) | (5000 | (0.0) | (100.0)
A 37 191 154 2 384
96) | (497 | 40.1) | 05 | (100.0)
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<3 2-12> 4FE vFA K3 AddE A
& uj] © A= A A
N ] E%O]E}— B ]o 2 B
Wl 15 1 (HEE) X A
g 23 171 62 256
o B 900 | (668) | (242) | (100.0) | 4*=0.160
° T o1 10 86 32 128 df=2
(7.8) (67.2) (25.0) (100.0) p=0.923
) 2 15 9 26
Al o|l&
2040 elst (7.7) (57.7) (34.6) (100.0)
11 112 41 164
304 ~ 39~
ol 3047 394 (6.7) (68.3) (25.0) (100.0) 22=9.242
1 144 -
404 ~ 494] 5 90 39 df=6
(10.4) (62.5) (27.1) (100.0) p=0.160
5 40 5 50
Al o] AF
2070 el (10.0) | (80.0) (10.0) | (100.0)
L0 ] 3 36 17 56
(5.4) (64.3) (30.4) (100.0)
_ 17 134 58 209 22=7.698
147 ¢ oy
e 10d 2 QD | 64D | @78 | 1000 | df=4
204 ~ 304 13 87 19 119 p=0.103
IO |5 @1 (16.0) (100.0)
o 20 114 46 180
@ et .
—— (1L1) | (633) (25.6) (100.0) 2*=3.313
] 13 143 48 204 df=2
=38k
e 64) | 701 | @35 | 1000) | p=0191
_ 31 236 89 356
WA}
43 (8.7) (66.3) (25.0) (100.0) 2%=0.909
e 2 21 5 28 df=2
(7.1) (75.0) 17.9) (100.0) p=0.635
A 18 97 39 154
i (117 | (630) | (253) | (100.0) | 4%=3537
REES R
o 15 160 55 230 df=2
T 65 | 696) | (239 | (100.0) | p=0.171
o 31 247 93 371
[T
HEE S g | 6se) | @51 | 1000
shey kel £l 2 9 0 11 22=5.107
(A 8 (182) | (81.8) (0.0) (100.0) | df=4
JRRRE— 0 1 1 2 p=0.276
(0.0) (50.0) (50.0) (100.0)
A 33 257 94 384
(8.6) (66.9) (24.5) (100.0)
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BRI
Q . -

HE L AR ey | A 2
wel agd | 2% e [(RES) | P A
- 12 164 79 1 256

= 27
o 4.7 | 641 | (309 | (0.4) | (100.0) | #?=0.630
o121 5 83 40 0 128 df=3
(39 | (64.8) (31.3) 0.0) (100.0) | p=0.890
2 17 7 0 26
X o|ls
294 el 77) | 654) | 269 | 0.0 | (100.0)
4 109 51 0 164
Al A
ol 3041 7 394 24 | 665 | GLD | 00) | (100.0) | #?=5934
4 1 144 -
404 ~ 494 ! % ! df=9
(49) | 618) | (326) | (0.7 | (100.0) | p=0747
4 32 14 0 50
A o]l Ak
504 el 80) | 640) | 280) | 0.0 | (100.0)
oW g 2 35 19 0 56
(36) | 625) | (339 | 0.0 | (100.0)
2_
P 104 ol 10 138 60 1 209 2%=1.983
(48) | 66.0) | @87 | (05 | (100.0) | df-6
204 ~ 300 | 2 “ 4 0 19 | 0921
(42) | 622 | 336) | (000 | (100.0)
_ 11 118 50 i 180
% shal
) (6.1) | 656) | (27.8) | (06) | (100.0) | »?=4512
shul g
e 6 129 69 0 204 df=3
BIR=S:1 1A
(29) | (632 (33.8) (0.0 (100.0) | p=0.211
16 229 110 1 356
WA
49 (45) | (64.3) | (309 | (0.3) | (100.0) | %=0.142
w2 A} 1 18 9 0 28 df=3
(36) | (64.3) (32.1) 0.0) (100.0) | p=0.986
A 8 107 39 0 154
2_
S A (5.2) | (69.5) | (253) | (0.0) | (100.0) | 4?=4.738
o 9 140 80 1 230 df=3
T (39 | (609) | (348 | (04) | (100.0) | p=0.192
P 15 241 114 1 371
40) | 650) | 307 | (0.3) | (100.0)
shey et &< 2 6 3 0 11 %°=9.552
(A& (182) | (545) | (27.3) | (0.0) | (100.0) | gf=6
IR 0 0 2 0 2 p=0.145
0.0 | 00 | (100.0) | 0.0 | (100.0)
A 17 247 119 1 384
(44) | 643) | 31.0) | 03 | (100.0)
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<E 214> FuAPPIL T oldn FFE AGSHAY IS Axa

W& ) £ ) A = A
M E%O]E}— =] ]o 2 B
H o] a8 | a9 (&) ¥ A
- 18 167 71 256
o B (700 | (652) | (27D | (100.0) | 4?=3.039
° T o1 4 82 42 128 df=2
(3.1) (64.1) (32.8) (100.0) p=0.219
) 1 19 6 26
Al o| 5
2040 elst (3.8) (73.1) (231) | (100.0)
5 105 54 164
3041 ~ 39~
ol 3047 394 (3.0) (64.0) (32.9) | (100.0) ¥=11.133
2 4 144 -
404~ 494 ¥ J ; dr=6
(6.3) (63.9) (29.9) (100.0) p=0.084
7 33 10 50
A o] Ak
2070 el (1400 | (6600 | (200) | (100.0)
L0 ] 3 34 19 56
(5.4) (60.7) (33.9) | (100.0)
_ 7 136 66 209 %°=8.333
1572 d o)4
e 10d 2 33 | 61D | @16 | 1000 | g4
204 ~ 304 12 79 28 119 p=0.080
(10.D)' | (66.4) (235) | (100.0)
A 14 174 45 180
3l )
—— (7.8) (67.2) (25.0) | (100.0) 2%=5.034
] 8 128 68 204 df=2
=3
e 39 | 627 | 333 | 1000) | p=0081
_ 19 230 107 356
WA}
43 (5.3) (64.6) (30.1) (100.0) 2%=2.009
w2 A} 3 19 6 28 df=2
(10.7) (67.9) (21.4) (100.0) p=0.366
A 12 104 38 154
) (78) | (675) (247) | (100.0) | 4*=4.170
REES R
o 10 145 75 230 df=2
T 43) | 630 | (326) | (100.0) | p=0.124
L 21 238 112 371
[T
HEEES ey | e | G2 | 1000
shey kel £l 1 9 1 11 22=3.440
(A 8 9.1 (81.8) 9.1 (100.0) | df=4
JRRRE— 0 2 0 2 p=0.487
0.0) | (100.0) (0.0) (100.0)
A 22 249 113 384
(5.7) (64.8) (204) | (100.0)




<3 2-15> T JFol dUiste] AHsty HAS 7HAA ok

EEE
Q = -

-8 wj g | A wigolc| e A7 2
wel agn | agd | (RS [  EA
- 21 139 94 2 256

1= 27
o (82) | (54.3) | (367 | (0.8) | (100.0) | #?=2.907
o121 6 76 46 0 128 df=3
47 | 594) | (359) 0.0) | (100.0) | p=0.406
2 16 8 0 26
Al o] F
2049 | g | 61 | @08 | 0o | 1000
8 94 62 0 164
AT A
ol 047399 o | 13 | @ | 0o | aco 22=8.646
1 1 144 -
404) ~ 49A] 0 %0 o3 df=9
6.9 | (55.6) (36.8) 0.7 | (1000) | p=0471
7 25 17 1 50
Al ol Ak
09 140 | 500 | 310 | @0 | aoo
oW g 4 34 18 0 56
(7.1) | 607 | (32.1) | (0.0) | (100.0)
2_
waae | 10u o 11 119 78 1 209 22=3.955
(5.3) | (569 | (37.3) | (0.5) | (100.0) | gf=6
od /bl 18 62 44 1 119 =0.683
ao.) | 521 | (7.0)0 | (0.8) | (100.0)
y 17 98 65 0 180
F3ha
) 94) | 544 | (361) | (0.0) | (100.0) | ?=4.727
REA= L
o 10 117 75 2 204 df=3
BIR=S:1 1A
(49) | 674 | (36.8) (1.0) | (100.0) | p=0.193
22 202 130 2 356
FLA}
49 (6.2) | (56.7) | (365 | (0.6) | (100.0) | #?=5689
E 5 13 10 0 28 df=3
(179 | 464) | (357) 0.0) | (100.0) | p=0.128
A 16 90 48 0 154
2_
st A (104) | (584) | (312) | (0.0) | (100.0) | #?=7.713
o 11 125 92 2 230 df=3
T 48) | (543) | 400) | 09 | (100.0) | p=0.052
getn = | B 207 137 2 371
6.7) | (558) | (369) | (0.5 | (100.0)
a2y etd =4 2 6 3 0 11 %°=3.906
Sk (182) | (545) | (27.3) | (0.0) | (100.0) | gf=6
Il I 0 0 2 | p=0689
0.0) | 100.0) | (0.0) | (0.0) | (100.0)
A 27 215 140 2 384
(7.0) | (56.0) | (365) | (0.5 | (100.0)
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<E 216> LHBEL A AR =S AT BT )
o] A =2
Q = -
-8 wj g | A wigolc| e A7 2
o) a9 | 2y o MRS | R
- 12 123 119 2 256
1= 27
o 47 | 480) | (465) | (0.8) | (100.0) | 4?=1.111
o1 7} 7 61 60 0 128 df=3
(55 | @1 | 46.9) 0.0) | (100.0) | p=0.774
4 12 10 0 26
A o] &l
24 e 5 | wen | @85 | 00 | a0
8 83 73 0 164
AT A
ol 0973949 ) | 08 | s | 00 | 1000 2*=17514
4 4 1 144 -
104 ~ 94 | ! 0 df=9
(35) | (514) (44.4) 0.7) (100.0) | p=0.041
2 15 32 1 50
Al ol Ak
S0 el (4.0) | (30.0) | (64.0) | (20) | (100.0)
T 7 25 24 0 56
(125) | (446) | 429 | 0.0 | (100.0)
2_
P 04 o4 6 108 94 1 209 2£=11.030
(29) | (G1.7) | (450) | (0.5 | (100.0) | gf=6
20~ 30u 1| 10 2 e} } 19 1 p0.087
(5.0) | (429 | 1.3) | (08 | (100.0)
y 9 72 98 1 180
F3ha
) (5.0) | (4000 | (54.4) | (06) | (100.0) | »?=8.898
REA= L
. 10 112 81 1 204 df=3
BIR=S:1 1A
(49) | 49 | 39.7) 05) | (100.0) | p=0.031
19 167 168 2 356
FLA}
49 (5.3) | (469 | (47.2) | (0.6) | (100.0) | #?=3.032
e 0 17 11 0 28 df=3
0.0) | 60.7) | (39.3) (0.0) | (100.0) | p=0.387
A 11 63 79 1 154
2_
st (7.1) | (409) | (51.3) | (0.6) | (100.0) | %=6.430
o 8 121 100 1 230 df=3
T (35 | (526) | 435 | 04 | (100.0) | p=0.092
—— 17 178 174 2 371
(46) | (480) | 469) | (0.5 | (100.0)
a2y etd =4 2 5 4 0 11 §°=4.438
(A 3 (182) | (455) | (364) | (0.0) | (100.0) | df=6
et w9 | 0| ! ! 0 2 | p=0618
0.0) | (50.0) | (50.0) | (0.0) | (100.0)
A 19 184 179 2 384
49 | (479 | 466) | (05 | (100.0)
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<E 2-17> S AP Res HUA BES =G
ERED
Q = -

-8 o | oA = Wt e A A 2
wel Y| 28 o MEE) | EA
- 29 195 32 0 256

1= 92
o (11.3) | (762) | (125) | (0.0) | (100.0) | ?=2.454
o121 14 100 13 1 128 df=3
(109 | (78.1) (10.2) 0.8) (100.0) | p=0.484
2 20 4 0 26
Al o] F
204 et (77 | (169 | (154) | (0.0) | (100.0)
17 128 18 1 164
AT A
ol 047399 1 o | aso | a1o | 06 | aooo %*=3712
2 1 1 144 -
404 ~ 494 0 o1 ! 0 df=9
(139) | (743) | 11.8) 0.0) | (100.0) | pH=0.929
4 40 6 0 50
Al ol Ak
S0 el (8.0) | (80.0) | (12.0) | (0.0) | (100.0)
T 4 44 8 0 56
(7.1) | (786) | (143) | (0.0) | (100.0)
2_
ae 04 o4 26 158 25 0 209 2£=4.032
(124) | (756) | (12.0) | 0.0) | (100.0) | df=6
o0~/ 13 93 12 1 119 =067
(109) | (782 | @o.ny | (0.8) | (100.0)
) 35 128 17 0 180
Fstal
) (194) | (71D | 94 | (00) | (100.0) | 4%=24.394
s
. 8 167 28 1 204 df=3
BIR=S:1 1A
(39 | 819 (13.7) (0.5) (100.0) | p=0.000
41 276 38 1 356
FLA}
49 (115) | (775) | (10.7) | (03) | (100.0) | ?=5.384
2 . 2 19 7 0 28 dr=3
B (7.1) | 679 | (250) | (0.0) | (100.0) | p=0.146
A 24 116 14 0 154
2_
st (156) | (753 | .1 (0.0) | (100.0) | 4*=6.678
o 19 179 31 1 230 df=3
T 83) | (778) | (135 | (04) | (100.0) | p=0.083
—— 42 283 45 1 371
(11L.3) | (763) | (12.1) | (0.3) | (100.0)
o et &< 1 10 0 0 11 %°=2.323
o (A s 9.1) | (909 | (0.0 0.0) | 100.0) | gf=6
jpep——— 2 0 0 2 p=0.888
0.0) | (100.0) | (0.0) (0.0) | (100.0)
i 43 295 45 1 384
(11.2) | (768) | a17) | (0.3) | (100.0)
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WE | oue | AR wwo)rt| e | A 2
wel 2| 2% o |ORES) | 4 A
- 33 189 33 0 255

1= 92
o (12.9) | (74D | (129 | 0.0) | (100.0) | 4?=2.180
o1 7} 18 94 15 1 128 df=3
(14.1) | (73.4) (11.7) 0.8) (100.0) | p=0536
4 19 3 0 26
Al o] F
24 e 5w | 30 | a1s) | 0o | 1000
14 121 27 1 163
Al T A
ol 097390 | g6 | @12 | a6s) | ©6) | 1000) | 212129
2 11 11 144 -
404 ~ 494 ’ 0 0 df=9
(16.0) | (76.4) (7.6) 0.0) | (100.0) | p=0206
10 33 7 0 50
Al ol Ak
O 900 | 660 | 1400 | 00 | 1000
104 ] 6 43 7 0 56
(10.7) | (768) | (125) | (0.0) | (100.0)
2_
ae 04 o4 22 159 27 0 208 ¥2=7.787
(10.6) | (764 | (13.0) | (0.0) | (100.0) | gf=6
od ~/all B 81 14 1 119 -0.254
(19.3) | (68.1) | (11.8) | (0.8) | (100.0)
y 52 128 20 0 180
ot
_ (17.8) | (71.D | (LD | 0.0) | (0.0) 2*=6.867
g
e 19 155 28 1 203 df=3
A=A
94) | (716.4) (13.8) (0.5) (100.0) | p=0.076
46 264 44 1 355
FLA}
49 (13.0) | (744) | (124) | (03) | (100.0) |  *=0.770
A A 5 19 4 0 28 df=3
(179 | (67.9) (14.3) 0.0) (100.0) | p=0.857
A 24 112 18 0 154
2_
st A4 (156) | (727 | (AL7) | (0.0) | (100.0) | #?~1.862
o 27 171 30 1 229 df=3
T (11.8) | (747 | (13.D) | 04 | (100.0) | p=0.602
I 273 48 1 370
(13.0) | (738) | (13.0) | (0.3) | (100.0)
shey et &< 3 8 0 0 11 2*=3.817
(A8t (27.3) | (12.7) (0.0) (0.0) | (100.0) | af=6
jpep——— 2 0 0 2 p=0.701
(0.0) | (100.0) | (0.0) | (0.0) | (100.0)
i 51 283 48 1 383
(13.3) | (7139 | (125 | (0.3) | (100.0)
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-8 wj g | A wigolc| e A7 2
el 2k | 29 o |ORES) | 4 A
- 37 197 22 0 256

= 27
. (145) | (77.0) | (86) (0.0) | (100.0) | 4?-3.389
o121 24 94 9 1 128 df=3
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